

BHARAT COKING COAL LIMITED

(A Subsidiary of Coal India Limited)

Bhuli Town Administration

Bhuli: Dhanbad- 828104 PHONE NO. 0326-2340420, 2340341

Ref.No.BCCL/BTA/Bhuli/2011/150

Dated 02/09/2011.

QUOTATION NOTICE.

Sealed Quotation on Percentage Rate Above or Below basis are invited from the reputed contractors for the following works and the same will be received from 11.00 A.M. to 3.00 P.M. on 09.09.2011 and opened on 12.00 Noon on 12.9..2011 at the office of the Area Manager ,BTA in the presence of intending tenderers or their authorized representatives. B.O.Q. for the job can be obtained from the office of the Area Manager ,BTA during working hours from 07.9.11 to 08..9..2011 . The Quotation is also available on Website http://bccl.cmpdi.co.in and can be downloaded. The other documents such as General terms & conditions and responsibility of the contractors, additional safety measures etc. also can be seen at the office of A.M.(BTA),Bhuli Town Admn.,Bhuli on Any working day which will be applicable to the contract . The details of works are given below:-

SI.No	Name of work	Est.Cost.Rs.	Earnest Money Rs.	Time of completion
1.	Maintenance works in Durga Mandup of A Block, Bhuli.	16896.00	170/-	15 days.
2.	Minor repairing and Maintenance works in Durga Mandup at B Block,Bhuli.	5806.00	60/-	15 days.
3	Minor repairing and Maintenance works in Durga Mandup near Market Complex of D Block ,Bhuli (Sector III)	6182.52	62/-	15 days.
4	Minor repairing and Maintenance works in Durga Mandir near Sector VII of D Block, Bhuli.	10429.27	105/-	15 days.
5	Repair & Maint. Of Durga Mandap at C Block, E/I & E/V Block,Bhuli.	14358.53	145/-	15 days.
6	White washing ,colour washing painting at A Block sump house on the occasion of Vishwakarma Puja at Bhuli.	9306.15	95/-	15 days.
7	White washing ,colour washing at E/V & E/III sub-station & D Block office & Sub Station East Bassuriya pump house at Bhuli on the occasion of Vishwakarma Puja at Bhuli.	15035.70	151/-	15 days.
8	White washing colour washing at E Block sump ,Hospital garage E Block Generator house A & B Block sub-Station on the occasion of Vishwakarma Puja	15434.40	155/-	15 days.
9	Supplying & spreading of Moorum at Durga Mandap Bhuli T/ship & Near Chhat Ghat ,Bhuli.	19206.95	193/-	15 days
10	Finishing work in flag hoisting platform at different places of Bhuli on the occasion of 15 th August.	2000.15	21/-	5 days

No materials will be issued by the department for this work. The quotation to be submitted in single part. No tender without Earnest Money will be accepted. The Draft of Earnest Money will be after the date of quotation.

The tenderers have to submit Permanent Account Number of Income Tax (PAN $\,$ NO.) & Tin No.

Dy.CE(C), BTA

Distribution:-

1)G.M.(Civil)CED,Koyla Nagar.

2.Chief Manager(Civil)CED,Koyla Nagar.

3.G.M.(admn.)K.Bhawan.

4. Area Manager, BTA, Bhuli.

5.G..M.(System)Koyla Bhawan 6F.M. BTA. 7.S.E.(c)BTA 8,.NOTICE BOARD,BTA,BHULI.



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

QUANTITY FOR THE BILL OF WOR K OF MAINTENANCE WORKS IN DURGA MANDUP OF A BLOCK, BHULI. SL.NO.1

SLNO.	ITEM	QTY	UNIT	RATE Rs.	AMOUNT.Rs.
1.	Dismantling cement plaster/shirting & removing of surplus	6.32 sqm	Sqm	8.20/sqm.	51.82
	materials from site complete as per direction of CE/I				
2.	12mm th. Cement plaster 1:6.	6.32 sqm.	Sqm.	67.65/sqm	427.54
3.	Removing of dry or oil bound distemper.	169.35 sqm	Sqm	4.25/sqm.	719.73
4.	Distempering with dry distemper .	169.35 sqm.	Sqm.	12.35/sqm	2091.47
5.	Painting on wall surfaces.	8.0 sqm.	Sqm.	22.85/sqm	182.80
6.	White washing on old works.	312.00 sqm	Sqm.	4.10/sqm	1279.20
7.	Painting with synthetic enamel paint over old surfaces/	0.32 sqm	Sqm.	222.85/sqm	731.20
8.	Dismantling cement concrete 1:3:6 or richer mixed.	0.70 cum	Cum	368.45/cum	257.91
9.	Laying 40 mm thick cement concrete 1:2:4 flooring.	18.0 sqm.	Sqm	192.95/sqm.	3473.10
10.	Surface dressing of the ground .	1500.0 sqm	Sqm.	512,% sqm	7681.50

Total Rs. 16896.00



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OFMINOR REPAIRING AND MAINTENANCE WORKS IN DURGA MANDAP AT B BLOCK,BHULI. SL.NO. 2

SI.No.	ITEM	QTY.	RATE	AMOUNT.
1,	Dismantling cement plaster /shirting and removing of surplus materials from site as per direction of CE/I	13.20 sqm	8.20/sqm.	108.24
2.	12mm thick cement plaster 1:6.	13.20 sqm	67.65/sqm	892.98
3.	Removing of dry/oil bound distemper.	157.0 sqm	4.25/sqm	667.25
4.	Dismantling with dry distemper.	157.0 sqm	12.35/sqm	1938.95
5.	Painting with synthetic enamel paint over old surfaces.	18.15 sqm.	22.85/sqm	414.72
6.	White/colour washing on old surfaces.	822.3 sqm.	4.10 /sqm.	337.43
7.	Surface dressing of the ground.	240.0 sqm.	512.10 % sqm.	1229.04
8.	Painting on wall surfaces.	9.50 sqm.	22.85/sqm.	217.07

TOTAL: Rs.5806.00



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF MINOR REPAIRING AND MAINTENANCE WORKS IN DURGA MANDAPNEAR MARKET COMPLEX OF D BLOCK BHULI (sec.iii). SL.NO.3

SL.NO.	ITEM	QTY.	RATE RS.	AMOUNT.RS.
1.	Dismantling cement plaster /shirting & removing of surplus materials from site as per direction of CE/I.	10.5 sqm.	8.20/sqm	86.10
2.	12mm th. Cement plaster 1:6	14.0 sqm.	67.65/sqm	947.10
3	Distempering with dry distemper.	81.0 sqm.	12.35/sqm	1000.35
4.	Painting over wall surfaces.	5.10 sqm	12.85/sqm	65.53
5.	White washing on old works.	88.0 sqm	4.10/sqm	360.80
6.	Surface dressing of the ground.	450.0 sqm	512.10% sqm.	2304.45
7.	Painting with synthetic enamel paint over old surfaces.	11.40 sqm.	22.85/sqm.	260.49
8.	Laving 50mm th. Cement concrete 1:2:4flooring.	6.0 sam	192.95/sam	1157.70

TOTAL RS,6182.52



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF MINOR REPAIRING AND MAINTENANCE WORKS IN DURGA MANDAP NEAR SECTOR VII OF D BLOCK, BHULI. SL NO.4

SL.NO	ITEM	QTY.	RATE Rs.	AMOUNT. Rs.
1.	Dismantling cement plaster of shirting and removing of surplus materials from site as per direction of C.E/I.	18.74 sqm	8.20/sqm.	Rs. 153.66
2.	12mm th. Cement plaster 1:6	23.42 sqm.	67.65/sqm	Rs.1584.36
3.	Dismantling cement concrete 1:3:6 richer mix.	0.53 cum	368.45/cum	Rs.195.27
4.	Laying 25mm thick cement concrete 1:2:4 flooring.	21.45 sqm.	86.05/sqm.	Rs.1845.77
5.	Painting with synthetic enamel paint over old surfaces	38.57 sqm	22.85/sqm	Rs881.32
6.	Painting over wall surfaces.	37,20 sqm.	2.85/sqm	Rs.850.02
7.	Painting of statue made on the roof includijg supplying of materials and labours complete.	1 job	400.00 /job	Rs.400.00
8.	White washing on old works.	227.20 sqm	4.10/sqm.	Rs.931.52
9.	Colour washing on old works.	120.4 sqm.	3.85/sqm	463.54
10.	Surfaces dressing of the ground.	610.0 sqm.	512.10/sqm.	3123.81

TOTAL RS. 10.249.27



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR TH E WORK OF REPAIR AND MAINTENANCE OF DURGA MANDAP AT C BLOCK E/I & E/V BLOCK,BHULI. SL.NO.5

SL.NO.	ITEM	QTY.	RATE Rs.	AMOUNT. Rs
1.	Colour washing two coat on old surface.	398.99 sqm	3.85/sqm	1536.11
2.	Removing colour washing .	398.99 sqm	3.20/sqm	1276.76
3.	Painting two coat with synthetic enamel paint.	92.30 sqm	22.85/sqm	2109.05
4.	12mm th. Cement plaster (1:6) on wall.	75.00 sqm	67.65/sqm	5073.75
5	12mm th. Plaster 1:4 with punning.	24.00 sqm	97.90/sqm	2349.60
6.	White washing two coat on old surface.	491.04 sqm	4.10/sqm	2013.26

TOTAL RS. 14,358.53



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF WHITE WASHING C/WASHING PAINTING AT A BLOCK SUMP HOUSE ON THE OCCASION OF VISHWAKARMA PUJA. AT BHULI. SL.NO.6

SL.NO.	ITEM	QTY.	RATE RS.	AMOUNT RS.
1.	White washing two coat on old surface.	390.00 sqm	4.10/sqm.	1599.00
2.	Colour washing two coat on old surface.	255.00 sqm	3,55/sqm	981.75
3.	Painting with synthetic enamel paint.	204.00 sqm.	22.55/sqm	4661.40
4.	Scrapping w/washing & c/washing.	645.00 sqm.	3.20/sqm	2064.00

TOTAL :Rs. 9306.15



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF WHITE WASHING COLOUR WASHING AT E/v & E/III SUB STATION & D BLOCK OFFICE & SUB STATION. SL.NO.7

SL.NO.	ITEM	QTY.	RATE RS.	AMOUNT RS.
1.	White washing two coat on old surfaces.	913.94 sqm.	4.10/ sqm.	3747.15
2.	Colour washing two coat on old surface.	1309.48 sqm	3.85/sqm.	5041.49
3.	Finishing wall with water proofing cement paint.	127.80 sqm	27.95/sqm	3572.01
4.	Painting with synthetic enamel paint.	93.30 sqm	22.85/sqm	2131.90
5.	Removing water proofing cement paint. Etc.	127.80 sgm.	4.25/sqm.	543.15

TOTAL :Rs. 15035.70



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF WHITE WASHING COLOUR WASHING AT E BLOCK SUMP HOSPITAL GARRAGE E BLOCK GENERATOR ROOM A & B BLOCK SUB.STATION ON THE OCCASION OF VISHWAKARMA PUJA. SL.NO.8

SL.NO.	ITEM	QTY.	RATE RS.	AMOUNT RS.
1.	White washing two coat on old existing surface.	1392.36 sqm	4.10/sqm	5708.67
2.	Colour washing two coat on old surface.	1174.18 sqm	3.85/sqm	4520.59
3.	Painting with synthetic enamel paint on old surface.	63.36 sqm.	22.85/sqm	1447.77
4.	Scrapping on colour washing.	1174.18	3.20/sgm	33757.37

TOTAL RS. 15434.40



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF SUPPLYING & SPREADING OF MOORUM AT DURGA MANDAP BHULI T/SHIP & NEAR CHHAT GHAT BHULI. SL.NO.9

SL.NO.	ITEM	QTY.	RATE RS.	AMOUNT RS.
1.	Supplying & stacking of moorum at site.	40 cum	421.85/cum	16874.00
2.	Labour charge for spreading of moorum at mandap.	15 labour	155.53/each	2332.95

Total Rs.. 19,206.95



Bhuli Town Administration

Bhuli: Dhanbad-828104 PHONE NO. 0326-2340420, 2340341

BILL OF QUANTITY FOR THE WORK OF MINOR REPAIRING & MAINTENANCE WORKS FOR FLAG HOISTING PLATFORM AT DIFFERENT PLACES OF BHULI. SL.NO. 10

SI. No.	ITEM	QTY.	RATE Rs.	AMOUNT. Rs.
1.	Surface dressing of the ground & removing of surplus materials from site complete.	200.0 sqm	512.10% sqm.	1024.20
2.	12mm th. Cement plaster 1:4 Taking a quantity of 8.0 sqm.	8.0 sqm.	77.65/sqm	621.20
3.	Painting with synthetic enamel paint over old surfaces.	10.0 sqm	22.85/sqm	228.50
4.	Painting G.I. pipes of 40mm dia .	25.0 Mtrs.	5.05/Mtr.	126.25

TOTAL RS. 2000.15